ER224E Bl A44—itix= (FE1m) ER22%6A5H()
(3%Hi42—r:10280780) BlamRe RBE RS
[Z&F] (B 15—K:281040)
AH] 1 iz 2 £z 3 iz 4 fiL 5 iz 6 iz 7 3 8 iz
100m 1130 WE f£E 2 127 99| KM EH 2 137 07| Fl £k 2 137 14|l FEfE 1 137 17|%8 B 1 13”7 18| LA E 2 137 31|#efadF~ AL 3 13”7 36|\K T 3 13” 39
TiJeiRis -1. 3| A& -2. 4| £k -1. 3| ek -2, 4| K -1. 3| ek -1 2| A TEE -L3| R EE -1.2
Ml joom |45 |0 Z%t2 267 o2fibm s s 26 os[rA Mk s 26" 07[wAE 3 267 63[F A2 26" T4l AR L 26" T7[Biw s s 267 SB[ g2 20 05
vl —+0. 2| JR I /)N FH i +1. 8| F K +0. 2| PR +0. 2|2 &k +0.2[pVlIE +0. 2| FiFg K +1. 8| it E & +1.8
a00m | 37 Ser1 587 65(HIH Fo- 3 587 T[N R 1 58”7 96(ILA T 2 1’ 017 25(fB4x EWE 1 U 017 T2[Ei®F TS 3 U 027 14[kili #RWL 1 U 027 31[iEK B 2 1 027 51
5 Vil PN 5] I /& LB PR FHER BN )11 76 B e B FRE
th 9 &R L
100mH
w | 100mH |22 |FH W3 147 94 F AR ESE 2 157 B0[HA A 2 16”7 36[fhA&  ® 2 15”7 80[dtA JnZE 2 16”7 84[ )\ K Z&F 3 16”7 23(@EA Z8 1 167 90 A Eid 1 17”7 09
A e -1. 6| K -1. 6| P -1. 6| FF K -1. 6| K -1, 6| R PEE -1.6| I -1.6|BUII&E -1.2
LUZPN 47767 |[FE HiF 48”64 | T 1 R B 50”52( 51 A 50783 | FLfiliE 50791 | )17 ALRE 51706 |G R 51795 JRIF /I~ 5 A 52709
Bt A 3 Ko £H 2 AR 2 AdE =i 1 FHIIHEFR 3 NEHEHEE 3 W OBE 3 SRR 3
2 | 4x100m DR AL 2 S R = ] M W 2 M AR 1 ZM WH 2 PR ACH 3 FRETHT 3 W B=E 3
TN HE 3 SEARTD AT 3 LW 7271 Kili #&I 1 LS NEE = EfEHR DY 2 PR ABTE 3 HEHSE 3
K bk 4 FEPIBFHSE 2 Yk AR 2 MR OREE 1 el TR 3 (LgF 3 2 EAR HE 2 Ak HET 2
£k ﬁi%zt: Jﬁfﬁ%i 1mb3 EJIL'A%% 1 Im50 [HEA PEYE 3 1m45 7)1 Eu)t 2 1m40 7&*#%912% 3 1m40 ;;%%m;:'& 2 1m40 *M:;%ﬂﬂ 2 1m40 Eé@zﬂpé 2 1m40
= AFEEREE FRE DEETS i IG = LT DRE S JI e g
= Rk A 1 2m70 0 0] 0 0| 0 0] 0 0] 0 0] 0 0
7 ki EIEEN 0 0 0 0 0 0
4 | EEm e Bkl 5m30 l:ﬁa"'«;?i 2 5m13| % Li?i)) 1 5m08 jKHﬂA *£%E 4 5m6 ttﬁ’}f i) 4m96 | A K fﬁf 2 4m90 E(T HE 3 4m89 Aézts uﬁéf 4m85
LY 7 v MR +1. 8| T JRIR +0. 5| T PE F +0. 2| RERIAH K -0. 6| [ M & +0. 1) R/ -0. 8| i K +0. 9| A & +0.3
=Bk TM‘Q =T 4 11m12 1#@%&02 2 10m87 ﬁ%%)ll#%i 3 10m26 Hﬂ‘%%*%%‘; 1 10m16| 75 Uf %% 3 9m91 ﬁ*ﬁ%%f 3 m75( 0 0] 0 0
| i) &K +0. 6|11 PE AL pE -0. 3| [ H & -0. 9| [E M % -0. 3| P +0. 5| (I F L+ +0.1] 0 0] 0 0
Rz s EHE 3 8m87| R EEE 3 8m78| KB D 7 2 Tm99| Eilr T 2 Tm81| A AT 2 Tmd7| 0 ol 0 0| 0 0
fafhix e IPN L ENDAE A R A 0 0 0
L | S JRHTFET 1 12m55 |87z £ 7 3 10m88| AR A 2 10m30 (428 A 3 10m30| 4 AL 2 37| LA HEBE 1 om35(MA A% 3 om15| )1 HBZE 2 8md5
fafhix il K iR DG [Nl T il K =ERE JE el
o " ANBR E3 22m34| 0 0] 0 0] 0 0| 0 0] 0 o] 0 0] 0 0
F nyvTR S 0 0 0 0 0 0 0
oY PR ERE 1 38m30[ it TH 2 35m21 | 5% HALVEE 1 34m06 (#2487 A 3 31m28|/hbk 3 30m88[AH  EE 4 30m64 |44 H 5T 2 29m03 (47 EA 3 27m63
DREGT iR B PEE HBERE PNUUNEPN FRE e IPN S
T BEHELERRSR w % Ll bES
ZHE Ex B
EiREE il &




